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SR H B H R + 38,0001

(R ARZEFIAM — » — 2 A EHTH 0 X 630H

(R ARZEKIAM — » — 2 AV EHH #0 < 530H

(R ARZEFIAM — ~ — 2 AV EH H #0 < 450H

(R ARZAHAR] — + — 2 A2 HH0 < 400

(AR — ~ — 2 AV EHH %0 < 350H

55V

WA A £ x H AR R + 29,800

(B REAHAR] — + — 2 B2 H 0 X 500H

(R REAHAR] — + — 2 AV EHIH B < 410H

(B AREFHAR — F — 2 LK A %0 x 3501

(B ARFAHAR — + — 2 L FH A %0 x 3101

(R RFHITHAR] — + — 2 A5 H 0 < 280H

65V Al

SR H B H AR + 50,8001

(B REEFIHART — + — 2 V35 H %0 < 8504

(e REHIHAN — + — 2 AV EHI A %0 X 710

(RRZMHAR] — + — 2 A2 H B0 < 600

(R ARZHFIAM — ~ — 2 AV EHTH %0 < 530H

(AR — ~ — 2 VEHTH 0 < 470H

65V

WRELHT A £ x HEER R +47,700F

(B REAHAR] — + — 2 225 H 0 < 800H

(R REAHAR] — + — 2 LV EH H B X 660

(R RFAHAR] — + — 2 A EHH B0 < 570H

(B RFHIHAR] — + — 2 A3 H 0 < 500

(R RFHIHAR] — + — 2 A3 HH0 < 440H

65Vl

SR H B H AR R + 39,8001

(RREAIAR] — + — 2 V2 H B X 660

(R ARFAIAR] — + — 2 A2 H B0 < 5501

(RARZAHAR] — + — 2 A ZH HBO < 470H

(RARZMIAR] — + — 2 A ZH H B < 410H

(AR — ~ — 2 VR H %0 < 370H

32VAl

MRS H £ x H B R 49,8001

(RARZAIAR] — » — 2 AV ZH A B0 < 1601

(RARZAIAR] — + — 2 A ZH A B0 < 1401

(BRARZAIAR] — + — 2 A ZHH B0 < 12011

(RARZAIAR] — + — 2 A2 H B0 < 10011

(RARZAIAR — + — 2 A2 A B0 < 90

55Vl
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(e REHIHART — + — 2 V35 H %0 X 3,430
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(R RFHIHART — F — 2 AR H %) X 1,910

55Vl

BRI H B H AR R + 196,800

(R REHIHRT— + — 2 A H %0 % 3,280

(BRREFIA — b — 2 VZHH$D) % 2,730

(B RELMME— F — 2 V2 H D) X 2,340
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(e RELHIEAR — + — 2 V3 H %0 X 680
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MRS H EL X A B8R R + 41,300
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(BRARZEAIAR] — + — 2 A ZH H B0 < 140
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YRR A £ x HEZER R + 25,500
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(R ARZMHAR]— + — 2 A2 H B0 < 540

(AR — ~ — 2 AV EHH %0 < 480H

MK H EL < H B8R AR + 51,600

(RREFIIIE — & — 2 VEZHT A %) X 860H]

(RREFIIIE — & — 2 VEHTAE) X 720
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(RREFIHE — + — 2 VZHTH %) X 540H

(R EFIHAE — + — 2 VZRTH %) X 480H]

WA A £ x HEER RN + 17,900

(R REAHAR] — + — 2 B2 H 0 X 300H

(R REAHAR] — + — 2 A H O X< 250

(R RFAHAR] — + — 2 AV EHH B < 210H

(R RFHHAR] — + — 2 A2 HH0 < 190H

(BRAFHHAR — + — 2 L FH A %0 X 1701

WRELHT A £ x HEER R + 25,5001

(RARZAHAM — + — 2 V25 H#7) X 430H]

(e RN — + — 2 V3 A %0 X 350

(RARZAHAM — + — 2 V2 H #70) X 3001

(RARZAHAM — + — 2 VT H#0) X 270

(RARZAHHAM — + — 2 V3 H#40) X 2401

MRS H £ < H 8RR 49,8001

(RARZAIAR — + — 2 LV ZH A B0 < 1601

(RARZAIAR] — + — 2 A2 A B0 < 14011

(RARZAIAR] — + — 2 A ZH A B0 < 1201

(RARZAIAR] — + — 2 A2 H B0 < 10011

(RARZAIAR — + — 2 A2 B0 < 90

BRI H B H AR R + 8,800

(B RELHIHAR — + — 2 A EHIH %) X 1504

(e R — + — 2 AV EHIH %) X 120

(RARZAHAM — + — 2 V2 H#40) X 1001

(RARZAHAM — + — 2 V23 H £ X 90H]

(RARZAHAM — + — 2 V25 H #0) X 80H

BREK) H B < HEEF AR + 12,5001

(R ARZFIAM — » — 2 AR H 0 < 210H

(R ARZEKIAM — » — 2 AV EHTH %0 < 170H

(R ARZEFIAM — ~ — 2 AV EHH %0 < 150H

(R ARZAHAR] — + — 2 A2 H B0 < 130

(R ARZHHAR]— + — 2 A2 H B0 < 120H

MK H E X A B8R AR + 12,500

(RAREFIIIE — & — 2 VEHTA$0) X 210

(RREFIIIE — & — 2 VZHTAE) X 170H

(RREFIIIE — & — 2 VZHT A %) X 150H

(RREFIBE — + — 2 VZHTH %) X 130H

(RREFIBAE — + — 2 VZHTH %) X 120H

BRI H < AR AR +5,800H

(B REAHAR] — + — 2 VI H O < 100

(AR — » — 2 AV FHH 0 < 80H

(RARZHFMAR — » — 2 AV FZHTHE) X 70H

(RARZFIAR — + — 2 AV FZHHE) X 60H

(RARZFAR — + — 2 AV FZHHEO < 50H

2TB

BRI H B H AR R + 3,000

(R ARZEFIHARM — » — 2 2R H ) < 50

(RARZAAM — + — 2 L HiH %) X 401

(RARZAHAM — + — 2 A HiH %) < 401

(RARZAHAM — + — 2 V23 H #0) X 301

(RARZAHIHAM — + — 2 V25 H #0) X 301

4TB

WK A B x HAER IR + 3,800

(RREAIAR] — » — 2 V2 HEO < 60

(R RZAHAR] — + — 2 A2 H B0 < 50H

(R R FHAR — b — 2 V3R H#0 < 504

(R ARZHHAR]— + — 2 A2 H B0 < 40H

(R ARZHIHAR]— + — 2 A2 H B0 < 40H

SR A B H BRI Rk + 3,400

(RARZAIAR — + — 2 A2 A B0 < 601

(RARZAIAR] — + — 2 A2 H B0 < 501

(R REIHAR — + — 2 A2 A B0 < 40H

(B REAIHART — b — 2 A2 A B0 < 40H

(RARZFIHAR — + — 2 AR A EO < 30H

R H B H BN R + 6,700

(R REAHAR] — + — 2 A2 HH0 X 110H

(RARZHFIIAR — » — 2 AV FHTH 0 < 90H

(RARZHFIAR — » — 2 AV FHH 0 < 80H

(RARZHFMAR — + — 2 VA E) X 70H

(RARZFIAR — + — 2 AV FZHHE) X 60

WRELHT A B x HEER IR + 6,700

(e REHIHART — + — 2 A3 H ) X 110

(R RFHHAR] — + — 2 AV ZH HEO < 90H

(RARZAAM — + — 2 AR H #) < 80H

(RARZAHAM — + — 2 AR H %0 X 70H

(R ARZHIHAR] — + — 2 A2 HH0 < 60H

BRELHT A B x HAER IR + 6,700

(R ARZFIAM — » — 2 AR H %0 < 110H

(AR — » — 2 AV FHH EO < 90

(R RZAHAR] — + — 2 A2 A B0 < 80

(R ARZMHAR]— + — 2 A ZH H B0 < 70H

(R ARZHIHAR]— + — 2 A2 H B0 < 60H

MRS H E < H 8RR + 8,300

(RREFIIIE — & — 2 VEH A ¥ X 140

(RREFIIIE — & — 2 VEHTA$) X 1201

(RREFIHIE — & — 2 VZHTH %) X 100H

(R EFIHE — & — 2 VZHTA$D) X 90H]

(R EFIHAE — + — 2 VZHTH %) X 80H]

BRI H < AR R +4,200H

(RARZFIAR — » — 2 VR HE) X 70H

(RAZHFIAR — » — 2 AV FHH 0 < 60H

(AR — » — 2 AV FHH 0 < 50

(RARZFIAR — + — 2 VFZHH E) < 40H

(RARZFAR — + — 2 AV FZHHE) < 40H

YRR A £ x H AR R + 10,0001

(R REHIIAR — + — 2 A BRI A %) X 170

(R REHIHAR — + — 2 AV EH A %0 X 140

(RARZAHAM — + — 2 V2 H#10) X 1201

(RARZAHAM — + — 2 V2 H#70) X 1001

(RARZAHIHAM — + — 2 A2 H #0) X 90H]

SREH H B H AR + 10,0001

(RAREFIWIE — & — 2 VEHTA$) X 170

(R REFIBIE — & — 2 VEHTA$) X 140

(R REFIBIE — & — 2 VEHTAE) X 120

(B ARZAHAR] — + — 2 A2 H B0 < 100

(R ARZAHAR] — + — 2 A2 H B0 < 90H

R A B H AR Rk +7,7001H

(RARZAIAR] — » — 2 AV ZHH B0 < 130

(R REAIHAR] — + — 2 AV EHIHEO < 110H

(B REIHART — + — 2 A2 A B0 < 90H

(B REAIHART — + — 2 A2 A 80 < 80H

(RARZFHAR — + — 2 A FZRITHEO < 70

R H B H BN Rk + 7,700

(R REAHAR] — + — 2 A2 HH0 X 130H

(R REAHAR] — + — 2 AV EHHEO < 110H

(AR — » — 2 AV FHH 0 X 90H

(RARZHFIAR — + — 2 AV FHH E0 < 80H

(RARZFIAR — + — 2 AV HE) X 70H

BRI H < AR TR +5,900H

(BRREAIAR] — + — 2 V2 H 0 < 100

(R RFRHAR] — + — 2 A2 HH0 < 80H

(RARZAAM — + — 2 AR H %) X T0H]

(RARZAEAM — + — 2 V23 H#0) X 60H

(R ARZHIHAR] — + — 2 A2 HH0 < 50H

FRELH H B« AR TR +4,300H

(RAREFIWIE — & — 2 VEHAE0) X T0H

(B R FIHART — + — 2 3259 H 20 X 601

(R EFIBIE — + — 2 VR A $0) X 50H

(R ARZAHAR] — + — 2 A2 H B0 < 40H

(R ARZHHAR] — + — 2 A2 H B0 < 40H
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